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Count, sort and show!
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Estimate how many stars.

Now count, them.

Find the winner!
. Who made the best estimate?

| f‘i Fill in your names and answers in this table.

Name

Estimate

Number counted

Difference between
your estimate and

your count

B2 S h e 9 10




T counted
in twos.

I counted J

in fives.
iz I counted
Vo o ® Y in tens.

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

Y Write number sentences

When You add any two

numbers it does not matter

Count the total number of big and small stars in what, their order j
is.

the Pictur‘e on page 2.
Write them in two ways.

Big Small like this or like this

- o2

. and asa number‘ sentence.

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo
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Clever counting

Countins the PumPkins

Find an easy way to count them.

3 Packins the Pumpkins

Ten Pumpkins go in one bag.

How many bags can you fill with the Pumpkins?

HOW monH Pumpkins are |eft over‘?

How many more Pumpkins are needed to fill one more bag?

I 2 8 & B 6 7 8 9 [0
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Examp|e:
\IO +10+10+10 = [,.O@[,_groupsoﬂO =,0= /[ XI0=/LO

a IO+10+10 =
groups of IO = — X =

"""'

O+I0+I0+10+10+10+10+10 =
Sr‘oupsoﬂO: —

X
|

How many hands? How many ﬂngers?
Write Your answer in 2 ways.
groups of IO = and X 10 =

11 12 18 1& 15 16 [7 18 19 20




Number‘s on a hundr‘ecl |ooar‘d

Ta"(ing numbers

Count and say all the numbers from | to 100. Point, as you go.

| | 2| 3| 4|5 |6 8 | 9|10
|
21

3L 4O

A
95
63
7l
8b
9% [0]6)

a.  Whrite the missing number in each blue block.
b.  Whrite in the other numbers.

What kind of numbers are the He"ow numbers?

ninetﬂ

B2 S h e 9 10



L 1l2|3]L]|5|6]7]|8]4
{23l le]r|ig|e {2 3iL|is|ie|r|i8]E]20 IL
21 [22]23]24 | 25| 26| 27| 28|29 |30 21 [22]23] 24 |25] 26| 27| 2829 |30 21 [22]23] 24 |25 26| 27| 28| 29|30
31(32(33(34(35(36|37|38|39]|L0 31[32(33(34(35(36(37|38(39]|L0 3132|333 (35(36|37(38]39|L0
L{L2|L3|LL|L5|Lb|L7|L8 L9 (50 L |L2|L3|LL|L5|Lb|LT|L8 L9 (50 L (42| L3|LL 15| L6l L7]L8] 49|50
51 [52(53|5. (55|56 57|58 |59 |60 51 [52(53|5. (55|56 (57|58 |59 |60 51 [52(53|5. (55|56 5758|549 |60
6l [62]63|6L 65|66 67]68|69[70 bl |62]63|6L 65|66 6768|6470 6l 62|63 6L 65|66 67]68| 69|70
7 72173| 74 | 75| 76| 77 | 78| 79 |80 7 72173| 74 | 75|76 | 77 | 78| 79 |80 7 72173| 7 | 75| 76| 77| 78| 79|80
81 |82|83|8L|85|8b|87|88 89|90 81 |82|83|8L|85|8b (87|88 84|90 81 |82|83|sL|85|8b|87|88(89 |90
qi [92|a3|az 95|96 |97 |8 |99 00 qi [a2|a3|az 95|96 |97 |8 |qq 00 q [a2|93|az [a5|a6 |97 |a8|aa |00
Count and colour the Ss
Count and colour the [Os. Count and colour the 2s.
from O to |O0.
Count in |Os from Count in 5s from Count in 2s from
1O to 100. 5t0100. 2t0100.
Whrite the |Os from Whrite the 5s from Whrite the 2s from
1O to 100. 5t080. 2t0100.

11 12 13

4

15 16

7

& 19 20




oooooooooooooooooooooooooooooooooooooooo

3 5| b | 7|8
112131461516 |17 |18 |19 |20
20 1221232412526 |27 (28|29 |30
3l |32 (3334|3536 |37|38|39|40
LI | 42 | L3 | Lh | LS| Lb | 4T | 48 | 49|50
Sl |52 |53 (55|55 |56 | 57|38 |59 |60
bl |62 |63 |bL|65|bb|bl|b68]|69|70
N |72 73|74 |75 76|77 |78 |79 |80
8l |82 (8384|8586 |87|88|89|90
94 192|193 |94 (95|96 | 97|98 |99 |I00

Tick (/) all the 10s Cross [X) the Os Circle (O) the 2s

Write the numbers that, are in both the 2s and the 5s Potter‘n.

I 2 8 & B 6 7 8 9 [0



Counting Patt,erns

Fill in the missing numbers.

O; |O, 20, ; ) 50, ) ; 80, ; |OO,

- 130; ; - 160: : : - 200

0;5;10; ; . 25; ; ; L.O; : 50; 85; ;

. 10; ; . 895; ; 100

O;2; 4;b; ; 12; ; :18; 0 22; 2L ;

: 30; ; . 3b; 38; ; ; WA %

O; . 8; . 1b; 20; ; 28; ; 3b;

:52; ; ; bl 12 : 80

O; . 10; : 20; :30; ; L.O; ; . 55;

bO; ; 70, 75, ; 85, ; ; IOO

O; 3; . 9; :19;18; ; 2L ; : 33; . 39;

: [L.5; ; . 814, 57, . 63; : :72;75

11 12 18 1& 15 16 [7 18 19 20
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PlGCG vq|ue

Showing BOUP numbers

Cut out the number cards from Cut.-out, sheet |.
Use the cards to build these numbers.

L3 69 TA

9 eocceee0000
000000000

w IIII
i
1
n

Now do it 30urse|f for these numbers using Cut-out |.

STA

IO +9=19

4O +3 =143

B2 S h e 9 10



Writ.ins these numbers

\A/e can OlSO
We have done the first one for you. say 9 ones.

10 + 9 lten + 9 unite

nineteen

in order from smallest, to bisgest.

Write the first five numbers, in the table above,

1112 18 & 15 16 [7

i8
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Addition and subtraction

Lebo's stall
Inthe mor‘ning Lebo has 19 Packets of qpp|es.

BH lunchtime she has 13 Packets left.

a. How many chkets does Lebo sell?

b. Write Your answer as a number sentence.

Whrite five other numbers sentences to show the same answer.

B2 S h



Can You find all the number families of 14,7

|+ 13 =14

13+ 1=I4

L —1=13

14 —13 =1

2+12=

3+1=

L +10 =

5+9=

b+8=

T+7=

Tam Soing to do
the same with 12.

I+ 1I=12
2+10=12
3+9=12
L+8=12
S5+7=12
b+b=12

I

12

I3

4

15

16

7

i8

164 20




We can show this in a drowing o

p_

A
Find one half of 3.

Show as a number or number name. A drowing might, he|[:> You.

” g ¢



Double the number usins a number line.
The first, examPIe is siven to You.

b. Double 5 + =

T T |
o | 2 3 4L 5 & 1 8 9 10

¢. Double 20 T =

T | I I I I I I I | |
O 10 20 30 LO 50 b0 70 80 90 100

d. Double 40 + =

o |
O 1O 200 30 4O 70 80 90 100

ComPIete the fo"owing ComPIete the fo"owins
a. Double | 2 )y | Half & 3
b. Double b b. Half 8
c. Double IO c. Half |l|-
d. Double 30 d. Hdlf 60
e. Double 50 e. Half 70

11 12 18 1& 15 16 [7 18 19 20



Fractions

Colour one quarter of the balloons red and / \ f \ (/ \ / \\

the rest blue. / '
Colour one half of each box red. Y \ /
Look at the shapes. Tick the 2

shopes that show halves.

Colour one half of each shaPe that
is divided into halves.

-
=R
B
\ |/

/ 1\
SN
S

B2 S h 8 10



1 \ Co|our ina quqrter of the shcloes. What is a quqr‘t.er of the number of the shqpes?

L e

Colour in a half of the shopes. What is a half of the number of the shqpes?

]
DIZI |:||:|

’DF‘GW more shapes to moke eQCh cluor‘ter‘ equc|.

[l

LT
O

11 12 18 14 15 16

one o[ucrt,er‘

718

164 20
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Sor‘ting money

-

At the stokvel
Ma Lubisi counts and sorts the money from the group. ;ﬂ‘{al

| Yy -,

AH9464322 C

AES5400018

ﬁ

AEB540001B

. N N N W N B N B SN B SN M N BN N M B BN BN BN B BN BN BN BN BN N M N M BN M B N M BN N BN O B Em e Em e mw

Estimate the total amount. R

ComPare estimates

Count the money. R and totals.

deing money /f \

Gugu saves for a Pcir of shoes that costs R89.
So far she has half the amount.

HOW muc|'\ more cloes she neecl?

Whrite a number sentence to show your answer.

I 2 8 & B 6 7 8 9 [0



She also has some notes left over.

White the totals for each row of Pictures.

Maria sorts the notes into Pi|es of 5.

X

140402095 3

AH6102035 A

" oy 1

AE8540001 B
Al
AEBSH0001D

eeeccccce

.

eeeccccccce

.

eccccccce

¢ Adults Children Addlts

Chq"ense
A visit to the zoo

eccccce o

ececccccce

Some adults and children go to the zoo.
Thetj |ou3 tickets for RAO0.

ececccccce

HOW mqnﬂ are c|'\i|c|r‘en?

How many are adults? z 00

Is there another answer? @%ﬁﬂé?[?@@ ﬂ.

eecccccccce

11 12 18 1& 15 16 [7 18 19 20
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Patterns

Use this 200 number board to answer the questions.

I 2 3 A S b I 8 q 10
I 12 13 |L; 15 [ 17 18 19 20
2| 22 23 21, 25 2b 2] 28 29 30
3l 32 33 3L 35 36 37 38 39 4O
L | 42 | 43 | L4 | 45 | 46 | LT | 48 | L9 | SO
S 52 53 Sl 55 56 57 58 59 60
ol b2 b3 bl b5 bb b/ 68 69 70
1l 12 13 IA 15 b 71 18 9 80
8l 82 83 8L 85 8b 87 88 89 90
q 92 93 a. 95 96 q7 98 99 | 100
IO | 102 [ 103 | 104 | 105 | 106 | 107 | 108 | 109 | IO
I 112 113 14 15 1[ II7 18 9 | 120
121 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130
13l 132 | 133 | 134 | 135 | 136 | 137 | 138 [ 139 | 14O
/A L2 | 143 | &b | 145 | 146 | 147 | 148 | 169 | 150
15 152 | 153 | 154 | 1585 | 156 | 1567 | 158 | 159 | 160
ol 62 | 163 | l64 | 165 | lbb | 167 | 168 | 169 | 170
17l 72 | 173 | 174 | 115 | Il6 | 177 178 | 179 | 180
18l 182 | 183 | 184 | 185 | 186 | 187 | 188 | 189 | 190
191 92 | 193 [ 94 [ 195 | 196 | 97 | 198 [ 199 | 200

\"R A Use the 200 number board to comP|ete the next four numbers in these number
“ Potterns. Then colour the Pott.ern on the number board.

105,110, 115, , : , 87,90,93,
36, 40O, L, , , : 184,186,188,
70, 65,60, , , , 138,135,132,
180, 76, 172, , , , 4.,12,10

B2 S h e 9 10



Whrite the numbers that, come next in each pattern. Then colour in the Pattern.
® What do You notice about, the numbers shaded with the same colour?

Counting in fives. Counting in twos.
5 (@] 2 L
Counting in threes. Counting in tens.
3 b (@]
Yo & Extend the Pottern.

e L e

11 12 18 1& 15 16 [7 18 19 20



The box

slides

ro||s

I]

2

“

The c3|inder‘

slides

ro||s

S 45

6

The bdll

slides

ro||s

7 & Y

10



CUPVGd eclge

CUPVGd eclge

CUPVGCI edge

CUPVGCI edge

str‘aight edge

str‘cight edge

str‘oight edge

strc:ight edge

N
N

BN —/ —/ —/
4 N N N N

-

curved edge CUI“VGCI edge CUI"VGCI edge CUI"VGCJ eclge

stroight edge str‘aight edge str‘aight edge str‘aight edge
—/ \Z — \Z — \Z —/
LY . L.
W !4 SGH if the can is behind, in front of, next to or on toP of the box.

N [ 2
behind in front, of \ behind in front of
next to on top of next to on t'OP of

1\ 1/

K
behind in front of . behind in front of
next to on t0|o of | next to on toP of
\_ 1\ 1/

11 12 18 1& 15 16 [7 18 19 20



DI"GW, name qnd comPare 2D shopes

Draw the shapes.

Triqn3|e Circle

Square Rectan9|e

Counting the shapes.

Count how many shopes like this You can find in the Picture.

i

A\
O
O

w [ 2 38 4 B e 9 10



Colour dll the

big circles r‘ec], small circles green;
|oi3 trian3|es |o|ue, small t,r‘iqngles orange;

bls sclucres He"OW, sma” sclucres PUPPIe;

|oi9 rectan3|es brown, small rectan9|es Pink.

How many sides does each shcpe have? Whrite the number in the block.

We have done one for you. Are the sides stmight, or curved? Colour in the correct answer.

P o — R R T I P -

11 12 18 1& 15 16 [7 18 19 20
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Time passes

Reading the time
What times do these watches show?

9

OIC|OCk OIC|OCk OIC|OC|(

Jumlo around the clock

Help Minnie Mouse count, the minutes in Ss.

Start at the 12. Go all the way around.

How many minutes do You count,?

How many minutes in | hour?

Writins the time
Draw the hands to show the times.

cluarter‘ Past b half Post 8 c[uarter‘ toll half Pcst 5

I 2 8 & B 6 7 8 9 [0



He gets to school.

He |edves home.

HOW |ong does Zc:ncler tdke?

Baking doH
] Maria bakes bread.

The bread goes The bread
into the oven. comes out.
The bread bakes for minutes.

G Chc"enge
S \f E Tcanseea Pottern. “:

In double time

a. Change the hours to minutes.
Hours | 2 [|. 8

Minutes 60

b. Mandla takes 45 minutes to get to school. Zander takes twice as |on3.
' How many hours does Zander take to get to school?

11 12 18 1& 15 16 [7 18 19 20



oooooooooooooooooooooooooooooooooooooooo

Together, all
the sides of this
triangle are

3 Pencﬂs |on3.

Together‘, all ,
the sides of this|
square are

4 Penci|s |on3.

I wonder how
|on9 and wide the
He”ow r‘ectqngle is?

HOW anH Penci|s |on9 is the r‘ectqng|e be|ow?

How many Penci|s wide is the r‘ectqng|e below?

|en9th

\/

width

How did You use the Penci|s to count?

[BES2 BZE b e 9 10



a. How many of the red lines do you need to cover the black line?

L

b. How many of the red lines do You need to go all the way

around the r‘ectang|e?

c. Whichis |on3er‘, the toP Poth or the lower one, or are theﬂ the same?

11 12 18 1& 15 16 [7 18 19 20




oooooooooooooooooooooooooooooooooooooooo

The meosurlng Ju holds [O cups
of water. I have jr‘eadg Put two
cups into the meosurlns Jug

How many more cups of water will fill the container?

How many cups of water are in the container?
How many cups more do we need to fill the container?

Sl

Inth iner: | | | Need -1 9 Inth @ Need :
- §GF C §F
GGG l’ TG -’

In the container: Need more: In the container: Need more:
g _ ——= N
sas ) %)
Ggg ——

In the container: Need more: In the container: Need more:

I 2 8 & B 6 7 8 9 [0



If one cup fills the‘jug to the second
interval, how many cups do You need

to fill thejug to:

11 12 18 1& 15 16 [7 18 19 20




oooooooooooooooooooooooooooooooooooooooo

«

' ) Let.'s measure I'IOW heavg we are!

(f ° S8
" (Z‘l’c

To find out, how hede or |igl‘\t we are, we use a scale.

We use ki|ogr‘cms to measure hOW I’\GGVH we are.

We use this abbreviation: kg. Who weighs the most?

Answer the cluestion. White aor b.

On this scale both QPP|eS On which scale is the green qpp|e heavier than the red cpp|e

weigh the same.

. J

On which scale is the green app|e |ighter‘ than the red qPP|e

B2 S h e 9 10



Draw how many bricks or balls You need
to make these scales balance.

: b.
-*D@igq- =

o]

Two bricks weigh the

same as f‘OUT‘ bO”S.

. J

a. 2 PGPCG'S |(9

b. 3 quce|s kg
c. CanImeasure 4 Pcrce|s at the same time on this kitchen scale?

WHH or whH not?

11 12 18 1& 15 16 [7 18 19 20
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Data handhng

Shoes in the class

Read the storﬂ.
Thabo: Wow, Miss! Jack is a 3ic|nt! He wears size b shoes!

Mrs Khoza: Welll Yes, Thabo, that is big for a nine year old!
What size shoe do You wear Thabo? What sizes do the rest of the class wear?

Let's doa sur‘veH!

The learners call out, their sizes, one 53 one.
Mrs Khoza writes the sizes on the board.

Mrs Khoza: Count, then write how many of each size.

Fill in the table below.

Shoe sizes in the class

Size | Size 2 Size 3 Size [, Size 5 Size b

I 2 8 & B 6 7 8 9 [0



Size 2 Size 3 Size £, - Size b

Now answer these questions.

a. Most learners wear shoe size

b. The fewest number wear size

c. children took Port in this survey.

<
ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

2527 What about BOU?
Find out what shoe sizes You and your friends wear!

* Workina group of bto 8.
* Collect your data.
* Write the number of shoe sizes in a table.

° Compore answers with other groups.

11 12 18 1& 15 16 [7 18 19 20



Coder‘e ond or‘cler‘ number‘s

5

89

qal

92

93

o)

Tl

8

79

8l

82

85

8b

81

95

96

q7

98

L 99

83

8L 88 90

What number is
before 847
What, number is
after 847

498 O ) What number is
between 88 and

90?

b/

Use the number board to answer the cluestions.

Which number is before 687
Which number is after 687?

Write down five numbers smaller than 7I.

Write down five numbers bigger‘ than 7.

What numbers are between 79 and 847?

Write the numbers from the smallest to |qrgest. 13,52,50, 59, bl

Write the numbers from the |orgest to smallest. 74, 96,99, 91, 38

B2 S h

38
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ComP|ete the table. Start with the given number.

one more one less ten more ten less

Circle the biggest number.

18 87 7 36 b3 33

Circle the smallest, number.

99 19 9 IA A O

If < means smaller than, and = means bigger‘ than, comP|ete:

"3 < e 3 > |is

S/ 98 89 S/

Find 5 numbersin a newspaper between 5O and 99 and Paste them in order from
the smallest to the biggest.

e N

.

11 12 18 1& 15 16 [7 18 19 20
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A small block stands for al. It is a unit.

A rod of 10 small blocks stands for a [O. It is a ten.

We can show numbers with P|c1ce value blocks.

Tens Units

-~

tens and units.

YOU can Sl’\OW a numloer using

Tens Units
L 1

f\or*tg -seven

Here is how to show /7. L1
J
Writins numbers in disit.s and words
a.  Under the Picture, write how many tens and how many units.
Then write the number in smeo|s and words.
[ ]
[ ] [ ]
[ ] [ ]
[ ] [ ] [ ]
Tens Units Tens Units Tens Units
3 I
3l
tl'\irtg_one

I]

2z 8 4B

e 9 10



b. \I\/e can GlSO use our number‘ CGPCIS to ShOW it.

H -
Number o many o many Write the number in words
tens? units?
26 2 b twentﬁ -six
Lb
99
What is the number?
‘ Tens Units
[
| 3 5
- t|'1ir't3 five
- 35
[
]
Tens Units

I

12 13

4

17 18 19 20

39



Reading

Putting tens together‘ when
we add to 99

Here is one way to

show 22.

Tens Units

We have one ten
We have twelve
units.

VGG

We will Put (@)
of the unitsin

a gr‘oup

Now we have another way to show

22.
Tens Units
[ ]
2 tens 2 units

Let's add 27 + L. The blue blocks are the units we start with and the red units are the

units we are adding to them.

27is 2 tens and 7 units.
Then we add 4 more units.

We have 2 tens and Il units.

NOW we hove

3tens + lunit = 3l

Tens Units Tens Units Tens Units

»

|

0

A |

O

T

N

2 tens 7 units We can show 1O units as | ten.
+ L units

| 2 3

405

SR




Whrite the number sentence shown 53 the Picture.

Units Tens Units Tens Units
] 0
g 0
g 0
g 0
2 0
¥ 0 [ ]
IO+5+6 + 4+ + .
ComP|ete the Pictures. Write the number sentences shown bH the Picture.
Tens Units Tens Units Tens Units
[
7 o
0 @
T @
O @
¥ 8§
g B
Tens Units Tens Units Tens Units
7
0 g
T @
O @
P
g B0

11 12 18 1& 15 16 [7 18 19 20




Sit at your desk!

In our school each learner has their own desk.

There are £.b learners in Grade 3A and 2L in Grade 3B.
How many desks do we need for both classes?

Working with a Part.ner

Look at how these three learners used a number line to solve the ProHem. Com|o|ete the sums using

the exqu|e.

+10 +10 + 4
R
L® Lb 56 bb 70

This is what I do: I first add 1O. This brings me to Db.
Then IJumP another 1O to Set to bb.
And |ost|3, |J'umP L, more to land at. 70.

I must add
2/ to Lb.

=46+ 10+ 10+ 4

=56+ 10 + 4
= bb + L
=70

a 32+ 25 =

B2 S h e 9 10




b. 852+ 26 =

A
\/

c. Lb+25=

A
\/

This is what I do: First I wi||JumP L. That will br‘ing me to DO.
I canumP 20 more, which br‘ings me to 70.

= 4O+ 10+ 20
= 50 + 20
=170

112 18 14 15 16 17 18 [9 20
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'_

ST

Add on a number line (continued)

2
-
I

A
Q{"‘n

b. 571+ 19=

\/

I must add

+ 20 + 4
« /\/\ -

I | 21, to b,
Lb b 70

This is what I do: From 46,1 canJumP 20. That lor'ings me to bb.
Now I have toJumP L more and then I reach 70.

= Lb+ 20 + 4
= bb + 4
=710

a b3+ 24 =

b. 65+ 29 =

B2 B S e 9 10



~ mlY
The baker delivers 54 brown 'ond b8 white loaves.

a. How many loaves q|toget|'\er‘?

b. Find the total on a number line. Show the numbers and the size of theJumps.

Add the fo"owing without, using a number line. Use any other method You like.

112 18 14 15 16 17 18 [9 20
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Subtract on a number line

One |earner! One ru|er!

The ClGSS neec|s 53 ru|ers. We have on|3 35
HOW mon3 more CJO we need? 53 - 35 =

Working with a Partner-

Read how the same three learners use a number line here. ComP|ete the sums using the examP|e.

I have to subtract
35 from 53. Subtraction

means to take away.

‘;%}_’S\A/__IO\A/__IO\A/__IO\‘
RN | | |

18 20 23 33 43 53

So, I will start at 53 and take away. T'll take away 1O, 10, 10 — that br‘ings me to
23. Now to take away five. First I take away 3, and I come to 20. I take away 2
more and I get to 8. So we need 18 rulers.

=33—-10-10-10-3—-2
= 43—-10—-10-3-2

=33—-10-3-2
=23-3-2
=20 -2

=18

B2 S h e 9 10
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Subtraction means to find
> the difference between
| | | 53 and 35.

35 LO L3 53
T'll start at 53 and count down to 35 to find the difference. If T count back

53 10, I Set to 4.3. I can count back 3 more to get, to [,.O Then I count down
more to get, to 35.
IO P|us 3 P|us five is 18. So we need |18 more rulers.

-5 -3

\.

a 38-Il4=

112 18 14 15 16 17 18 [9 20




I can start at. 35 and see
how many J'umps it takes
me to count up to 53.

I can start at 35 and see how mdnHJumPs it takes me to count, up to

53 Ten PlUS ﬂve PIUS thr*ee is |8 We neecl |8 more r‘u|er‘s.

\_

a 84,—32=

B2 B S e 9 10




) ;’ e Croing 53 taxi

The‘jour‘neg 53 taxi to town is 65 km.
So far the taxi has travelled 38 km.

How much further to 90?

Use the number line to solve this Pr‘oHem.

Ve

112 18 14 15 16 17 18 [9 20




50

It's qutﬂ time
First P|an!

Busi asks all of her friends to give her a Pict,ure of their favourite qu‘tﬂ food. This is
what she has collected. He|P to sort it.

Kind of food

Number

I 2 8 & B 6 7 8 9 [0
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oooooooooooooooooooooooooooooooooooooooo

Counting up to 200

Count the GPPleS.

Fill in the numbers.

|Boxhas [ | apples IRowhas [ | apples
I ROW |"\GS : boxes [|. ROWS hGS : GPPIeS
B 6

a. How many GPPIeS will there be in five boxes?

:,..o.* ...... ‘:..-oo‘:..ooo*...-oo‘ _
| | | | | | | | | | [~

0 © 20 30 0 580 60 70 8 90 100

b. How many GPPIeS will there be in seven boxes?

<
<%

| | | | | | | | | | g
O 10 20 30 LO 50 0 70 80 90 100

B2 S h e 9 10



3 lotsof |O make

5 lotsof 1O make X = or X =
2 lotsof |O make X = or X =
5 Pairs of feet..

How many toes o|t09et|1er‘?

= =

M o o o o —————

IO+ 10+ 10+ 10 + IO=- 5x10

or ng:

Do these in the same way.

L. Pairs of feet. How many toes? —

—X—: or —X—:

. J

9 Pairs of feet. How many toes? —

Count in [Os.

10, 20, 30, 40, 50,

112 18 14 15 16 17 18 [9 20



Term I

Now count the fish. Find the total.

Countins in Os

Find the total number of fish eqgs. Write a + and X number sentence.
We have done the first one for you.

Fish and eqgs How many eqgs c|t03et|'1er‘?

Sfish eachlay2eqgs |2+ 2+2+2+2=10 5x2=10
S fish, each |c13 1O eqgs

5 fish, each |C|3 [.. eqgs

5 fish, each |c13 3 eqgs

S fish, each |c:3 b eqgs

S fish, each |c13 8 eggs

5 fish, each |c13 5 eggs

wm | 2z 8 4 9 e 9 10




5+5+5+5+5+5+5=

a | | | | | | | | | >
o) 5 [0) 15 20 25 30 35 LO 45 50
b1 | | | | | | | | | e
0 5 [0) 15 20 25 30 35 LtO L5 50
5+5+5+5+5+5+5+5+5= or X =
o 1 T T T T ] g

I
O 5 IO 15 20 25 30 35 LO 45 80
+_+_+_+_ +_ +_+_+_+_= or 10 X 5 =50

Sipho catches between 4,0 and 50 fish. He counts them in 2s and has | left over.

He counts them in 5s and has 2 left, over. How many fish does Sipl‘\o catch?

11 12 18 1& 15 16 [7 18 19 20
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Count in 2s

Countins the socks

a. HOW mcn3 PGir‘S O'F SOCkS?

b. How many socks are there?

Are there any socks left over?

B2 S h e 9 10



Count.ing Pairs of socks

Write how many Pairs of socks there are and say if there are any left over.

Number Number Sin3|e socks

of Pairs of socks left, over

11 12 18 1& 15 16 [7 18 19 20
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A
Q{"‘\

Count in 2s (cont,inued)
BuiHing Pairs

Write down the even and odd numbers from | = 60.

a.  Write down the even numbers from | — 60.
2 1,6,

b.  Write down the odd numbers from | — 60.
357

L

' o Odds and evens

Draw a circle around the even numbers.

Draw qa SC[UCIPe GI"OUhd tl'\e OCICJ number‘s.

B2 B S e 9 10
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2 socks = | Pair ‘

2X|1=2
-

20 socks = 10 Pqirs

2X10=20
)

a. Write how many socks.

Think in 2s Number sentence
| Pair = 2 socks x| 2 2
2 Pairs = socks x| 2
L Pairs = socks
8 Pairs = socks
q Pairs = socks
b. Show the sum on the number line and comP|ete.
( )
ExamP|e:
2+2+2=6or3X2=56b
T e e N :
| | | | | | | | | |
L @) 2 A b 8 1O 12 £, [¢) I8 20 y
2+2+2+2+2+2+ 2= or X =

<
<«

|
O

11 12 18 14 15 16

7

i8

164 20




oooooooooooooooooooooooooooooooooooooooo

Moneg then and now

The St-OPH O'F our moneH

In South Africa we use rands and cents as our money.
We started to use rands and cents in [96I.

In those dogs the | cent coin had the lowest, value, then the 2 cent coin and then the 5 cent coin.

'¢- --------------------- .‘
[ ] 1
1 1
1 1
| |
1 1
1 1
| |}
‘0- -o'

Yes, ou’r‘e

T used these small coins

to ay for alot of things.
hings were so checp

then!

r‘ight,t eE are
no |on9er‘ eing
made!

But, Gogo, I

have not seen
[and 2 cent |

coins.

About 50 years ago we Yes, I remember! | Pound was
still used Pounds, shi |ings 20 shi"ings, and | sl'\i”ing was |2
and pence. ‘ pence.

B2 S h SR



Count the | cents.

How many cents are there?

How many more cents do You need to

make RIOO0?

Draw them in the block.

G@@@@G@@@@
R200 = c
RI50 = c

2 ‘ ‘ cost, RZ.0O. 2 é é cost R2.00.

HOW mons bonanos f\OP R20,00° HOW manH GPPIQS 'FOI" Rq,oof)

11 12 18 1« 15 16 [7 18 19 20



Count in 3s

Wheels in 3s

| tricycle has wheels.
Stricycleshave  wheels. 3+3+3+3+3=5%x3=__
2tricycleshave  wheels. 3+3=2x3=__
 tricycleshave _ wheels.
b tricycles have _ wheels.
Qtricycleshave  wheels.
Btricycleshave  wheels.

a 3+3+3+3=

B2 S h SR



b

T | | |
O 3 b 9

[2 15 18 2 2L 27 30
3+3+3+3+3= = X
T | | | | | | | | | T
@) 3 b q |2 15 I8 2 2L, 27 30
d < N
| | | | | | | | | | |
O 3 b q |2 15 I8 2l 2L 27 30

At the CHCIG shoP Busi counts |oic3c|e and tri03c|e wheels.

There are l4; wheels a|together‘.

How many bicgc|es are there?

How many tr‘ic30|es are there?

1 12

I3

4

15

16

7

i8

164 20




Term I

b4

Some £, number facts ...
[L+1[=82x[=8

COWS hdve 'FOUP |egs.

What, else comes in fours?

Corting the o ==
Use the facts you know about 4s to answer these questions.
oo (ﬁg - 2cowszﬁ> o
3 cows (ﬁg logs ACOWSW logs
5 cows ‘ﬁg legs bcowszﬁ\ legs
7 cows (ﬁ: legs scowszﬁ‘ legs
9 cows Wg legs 0 cowszﬁ\ legs

B2 S h e 9 10




ComP|ete the table below. Use the examP|e to guide you.

3 cows have legs. | L+ h+h=3XL=__ I
5 cows have legs.
f, cows have logs.
7 cows have logs.
8 cows have legs.

Number lines

Show the mu|ti|o|ication sum on the number line and comP|ete usingJumPs (hops).

[RIRSS 788 = B2

16 17 18

164 20




oooooooooooooooooooooooooooooooooooooooo

Which number Pattern do the circles in each OO gr*icl show?
Draw more circles to comP|ete each Pdttern.

Whrite a name for each Pqttern.

a. Pattern: b. Pattern:
(o) (o] (o] (o) (o) (o] (o]
(o) (o] (o] (o) (o) (o] (o]
(o) (o] (o] (o) (o) (o] (o]
(o} (o) (o) (o} (o} (o} (o)
(o} (o) (o) (o} (o} (o} (o)
(o} (o) (o) (o} (o} (o} (o)

c. Pattern: d.  Pattern:

o

(B2 g 9 [0



a. In this number Pottern all the numbers are even. What, can the other numbers be?

Whrite them in.

ALK KK XX X 2

b. In this number Pcttern the numbers are all odd. What, can the other numbers be? Write them in.

CX XX KX XA

Where do thea be|on3?

The 3s and Lis Potter‘n The 3s and 5s Potter‘n The lis and Os Pott.ern
e.q 48

At the sea

Thembi collects between 60 and 70 sea shells.
When she counts them in 3s, she has | left over.
The PossiHe numbers are: b, L, 10,
When she counts them in Ss, she has 4 left over.

T|'1e POSSible numloer‘s are:

HOW man she"s CIOGS Thembl hqve?

[RIRSS 788 = B2 H@ 16 17 18 19 20 67




We can write it as

C.

I 2 8 & B 6 7 8 9 [0



Now do these.

a.

1 12

I3

Iz 15 16 [7 [

164 20




Division (continuecl)

Use the number lines to write a subtraction and division number sentence.

Examp|e:

e | -

O 2 A b 8 [0 12 /A lb 18 20
b-2-2-2-2-2-2-2-2=0

I] e 9 10



N\

0000000000000 00000000000000000000,

e® ®0cccccce

J

e® 0000000000000 0000000000000 ©0ccc00c00cc000000000000 ©0ccc00c00cc000000000000 ©0ccc00c00cc000000000000 eeccccccccccn,
.

Challenge

eecccccce o

Show all the ways you can
divide 2/, sweets ecluo"H
between dif ferent groups :
of children.
Whrite a number sentence

to show your answer.

.
®eccccccce

.
®ececccccccccccccccce eeccccccccccccccccccccce eeccccccccccccccccccccce eeccccccccccccccccccccce eeccccccccccccccccce o

11 12 18 1& 15 16 [7 18 19 20
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One third One fifth

One quqr‘ter‘ -

One half

9




Share the counters between the two children.

000 o000 000000
000 o000 000000
000 | 000 oo 00 o000 OO0
oo 0 000 OO0
* We got 2 counters | ® We got * We got * We got
each. counters each. counters each. counters each.
* Half of 4 counters | ® of ° of ° of
is 2. counters is counters is counters is

L+2=2

© ©

© ©

o Yok}

® one quarter of the sweets = 3
two quarters of the sweets =
three quarters of the sweets =

four quarters of the sweets =

* one third of the sweets = L
* two thirds of the sweets = -
* three thirds of the sweets = _

12 18 14 15

16 [7

164 20




2:15 5:30 9:45
quar‘ter‘ Past two half Past five quarter toten

Write these times in 2 different ways.

B2 B S e 9 10




Going home

How |on3 does Ben take to get home? SRS
10 27,
minutes -9 3-
8 S
R
hours '
Ben leaves school. Ben gets home.

HOW mdhﬂ Ve

minutes in 2 hours?

hours in 2 qus?

dcﬂs in 2 weeks?

months in 2 Hear‘s?

Apri| Mat‘ June N
o0 N poeccccccccccccccsscsccsccsscsccscsssssscee MITIWI|T F S S MITIWI|T F S|S MITIWI|T F S|S
N 1 [2]3]4]s]e]7 3[4]s BB
g HOW manﬂ dGHS. glajio|n||i3]L bl7]8]aliofn]i2 3|4|5]|6[7]8]9
" 15[16]17]i8]a]20] 2 Blw[is]w]r].]E NIRIENAE D
APriI 27 is Freedom DGH‘ 23]24 28] || [20] 21]22] 23] 24 25] 26 171819 ]20] 21 22]23
249[30 27]28]24]30] 3 24]25]26[27] 28] 2930

3 June 1bis Youth DGH.
a. From Freedom DGH to Youth DGH there is month[s],

w|'10|e weeks Qnd dGHS.

b. How many whole weeks in all?

] How many dcgs left over? .How many doﬁs in all? 3
c. Lebo's birthdoﬂ is 1 cloﬂs before Freedom DOH. |: Check. Compqr‘e. :]
Musd's bir‘thdog is two clqas after Youth DQH. Correct.

Who is o|<:|er? BH hOW mona ddHS?

11 12 18 1& 15 16 [7 18 19 20



Tar*get. 200

Count.ins the numbers

Count and say all the numbers from 101 to 200.
Point, as You go.

10l | 102
Il
121
13l
149
154
165

173 180

|8l 186
198 200

a.  Write the missing number in each blue square.
b.  Whrite in the rest of the numbers.

c.  Write the next IO numbers after 200.

200;

17 2 8 &4 & 6 7 © 9 10



180 |

167

0 207 |

50

237

( )

Write the numbers in order

from smallest to biggest.

+
+
Il

N

QO

w

+25 | 125 - 129 138

11 12 18 14 16 16 17 18 19 20



oooooooooooooooooooooooooooooooooooooooo

\A/or‘king with groups of numbers

Packins candles

Ma Nkosi works at a candle factorg.
When the candles are recclH, she Packs them out like this in boxes on racks.

a ar a®

aP e ap aP o= ar a» «B 2= a ar a® «B o= a ap a® «F =
'-- r i-* i‘ i- 'i— r i» i- i- i. r i— i- i, '_, ad i» i- o> ", an iy i‘ i.
2 a plam

aVar aviePis

a a »

ap ar a® <Ple arya a » «B 2
\
- a-n a-n ‘)‘ LA £ 3T

Wit i Wi il

ar ar a» «B == ap ar a® «B = N ap av a® <P = 45 ar a® <P =

> anPan

Nileiie, Gilehilis A G e
’/ ’ '

HOW mang CCII’\C"GS in eoch bOX?

HOW mong bOXGS on eocl'\ PGCI(?

HOW mqnﬂ conc“es on ecch PGC'(?

17 2 8 &4 & 6 7 © 9 10




BOXGS O'F cqnd|es

Ma Nkosi closes the boxes.

a. Count all the boxes.

HOW manﬂ bOXGS?

How many candles o|t09ether‘?

How many more boxes does she need to fill to have 200 candles?

b. How many candles in:

2 boxes? ¥ J, boxes? 8

5 boxes? § 3 boxes? 8

b boxes? 8 7 boxes? §
. How many boxes does she need for-

LOB boxes 708 boxes

500 boxes 306

11 12 18 14 16 16 17 18 19 20



Putting tens together and

taking them oPort
Puttins tens t.osether‘ when we add.

o IIIII IIIIIII
9b + 13 = +
[
7
7

5 tens and b units 7 tens and 3 units

- J

Together‘ we have |2 tens.
We can Put [O tens toegether to make | hundred.

17 2 8 &4 & 6 7 © 9 10




Exqmp|e: 82 + 3L = I and @ =0O

Ve

100 +20+b =126

a. b5+352

b. 76+ 63

11 12 18 14 18 16 17 18 19 20



utt,ing tens together‘ and

Use HOUF‘ P|oce va|ue blOCkS.

oooooooooooooooooooooooooooooooooooooooo

taking them anrt. (continuecl)

Use base ten blocks to All together Did You group tens or units? Write the
make these two numbers. how many tens? Check the P|ace value where number.
how many units? You regrouped.
tens [l tens + 12 units
— 122
23+99 units =110 + 12
tens
38 + 25 = .
units
tens
11+ 3l = —
units
tens
68-+-45'_ units
tens
83.+'47__ units

Tc:king tens anrt when we subtract,

B
Y e
L '

7 )
— When we subtract, we sometimes need to show

one ten as ten units, or one hundred as |O tens.

Let's subtract: 60O — 55 =

We start, with six tens and no units. We want to subtract five tens and five units.

(The units we are taking away we coloured gr‘eg.)

We can show six tens like this. Or as five tens and

HEEEEEEEN|
LT
LTI
LT

LT

Take away five tens and five units.

Five units are left.

b0-35=95

8 9 10

ten units.

1T 2 38 &4 B 6 7



Let us trﬁ.

a 710-28
NUDNNCD (DUDNERSS3SS|INnnpNg2ese
7 tens b tens and |O units 70 —-28 =
b. 90-4b
c. 80-53
’ \ /,‘ Findins the number pair
’ 200 ; 200

30

11 12 18 14 16 16 17 18 19 20
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How many times a daﬂ
do you Er‘ush your
teeth?

This is what the children tell him. TR A 2 = | time

v vIviviviviviviviv
T T vVIiviviviviviviviviviviv vy
G T s |V v || v

a.  Count the ticks (\/ ) showing how often children brush their teeth. Write the numbers.

=)

e

Once a ddﬂ

Twice a dGH

Three times a dqg

b.  What can You see from the table?

Most of the children brush a dog.

There are children in the group.

17 2 8 & & 6 7 © 9 10



Draw a Pictogr*aph of how many times a CIGH the children brush their teeth. |

\

[=|time]

a.  How many times a CICJH theH brush their teeth?

b. Drawa Pictogr‘qph like the one above to show your ﬂnclings.

11 12 18 14 16 16 17 18 19 20



oooooooooooooooooooooooooooooooooooooooo

subtract on paper, without blocks. Sometimes she likes to

start with her number cards to show the numbers.

So for the sum b + 73, she finds these cards:

soff 7o

She adds the units and Puts down the 9 card. .

She knows: 50 + 70 = 120.
She takes the hundreds, the 20 and the 9 card

to make a 3—c|igit number.

Busi can add units and tens and regroup them. She can add and

rShe writes it out, like this:
50+70 +b+3
=50+70 +9
=120 +9

=100 + 20 + 9

- 129

e

( )
Dumi knows how the blocks work.

She does 5b + 73 like this:
50+6+70 +3

120 + 9
=129

(Ackar‘ likes to round of f.

Here's how he does this one:

56 + 73
=350+ 70 +10-1
\= 130 -1=129

1T 2 38 &4 B 6 7

8 9 10



( Busi's method (Dumi's method
80+60+0b+2 80+b+60+2

\ J

b. 72+ 63

r N\

\ J

c. 8l+57

d 69+l Use Aakars method to do this one.

r \ )
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Add and combine (continued)

Now let's subtract.

( Busi's method (Dumi's method
80-50+7-3 80+ 7-50+3
—S0i =30+4

\ ~ 3k ) 3L

95-73

17 2 8 &4 & 6 7 © 9 10



There are many ways to add units and tens together‘. Choose the way you know and like best

to solve these Prob|ems. Show your work.

a.  Peter first Picks 3L Peqches and then b/ Peocl'\es.
How many Peaches qltogether?

b.  The Malusi kids save R/ together.
Their mother gives them another R58. How much do the3 have now?

c.  The school bus travels 88 km in the mor‘ning and 73 km in the afternoon.
How many km a|toget|'1er'?

v VRN

0

11 12 18 14 16 16 17 18 19 20



Sipho counts out 87 bottle t0|os. Andile counts out 38.
How many more bottle toPs does Sipho count, than Andile?

4

-

MUSQ

Musa sells tickets. He had 92 tickets to begin with. He has 67 left.
How many tickets has Musa sold so far?

17 2 8 &4 & 6 7 © 9 10



) / \' S \(
S 27

Tere are b9 chickens in one pen and 95 in another.
How many chickens are there a|together‘?

Read hOW GUSU qnd Aqur so|ve t|'\e Pr‘oHem.

Gugu’swaﬂ

60O +90 +9+35
=100 + 50 + 14
=150 + 10 + 4
= lbL

a. The bogs collect R9b for a class triP. The 8ir|s collect R79.
How much do the3 collect c:|together‘?

Use GUSU'S WGS Use AGI(GI"IS WGB

b.  One school collects 76 kg of cans. Another school collects 68 kg cans.
How many kg of cans do the two schools collect a|toget|'\er‘?

Use GUSUIS WGH Use Aokar"s WOH

11 12 18 14 16 16 17 18 19 20




Count, and calculate

(Q\
e
I—E Finding the Part
Write in the missing numbers.
“| 100 | P | 100 1 1o | ¢ | 100
27 39 43 56
| 200 | F | 200 3| 200 | M| 200
14,0 |[0) 135 120
Subr‘q the numbers in the Plnl( box each time.
We have done the first one for you.
220 —15 —| 205 -5 -0 (=
’ Here is a way :
-20 to check your
s s bEmrl ] e
to 220.
-10 But this time,
add the numbers.
15 |~ —10 =5 || 100 | :

. 1 2 8 4 B 6 7 © 9 10




<
N ZN N 7

70 | 125 | 150 | 8l 9 | 122 | 134 1l 70
+50

120

86 200 188 | 119 139 @ 19 @ 126 | 138 | 99
-50

136

11 12 18 14 16 16 17 18 19 20



~

The numbers on the ruler stand for centimetres.

We use the abbreviation or sHmbo| cm.

When You use a ruler, you must start to measure from O.
Some rulers do not. show the O like the one on this page.

Find zero cm on the ruler. Write O on the ruler.

Where is |O cm on this ruler? Write 1O there.

Estimate, then measure accur‘qte|3 with your ruler, the |en9th incm of

the line making each shaPe.

/

a. Estimate cm b. Estimate cm c. Estimate cm

Meqsure Mecsure Meosure

17 2 8 & & 6 7 © 9 10



How many cm |on9 is each line?

a cm
b cm
C. cm

0)

e Are you sure?
Lo

Which is |onger‘, the red line or the green line?

HOW can SOU cl‘meck?

N

/ \ ( This is what is called an opticq| illusion. \

This hcppens when your eyes are tricked into seeing
something that is not rea"a there.
The two lines are the same |en9th.
The black lines extending outward make the red line look

|onger and the black lines soing inwards make the green

k line look shorter. j

11 12 18 14 16 16 17 18 19 20



Count from 20l to 300.
Point, as you go.
Then fill in the blue numbers first.

White in the rest, of the numbers.

20| 207 210
2l
22|
23|
249
204,
205
213 280
28| 286
298 300

Write the next |O numbers after 300.

300;

17 2 8 &4 & 6 7 © 9 10



What's theJumP?

30l

28|

17| 2ll
1Ol
% N 0 Showing and compqrins
. Write the numbers that go in each card.
298; 208; 30! 276b: 227 269; 3l
b.  Write the numbers in order from smallest to biggest.
Write the missing numbers.
Start | 200 +25 | 225 231 249
|
v
300 286 218

11 12

18 14 15 16 17 18 19 20



o 132
( Busi's method Dumi's method

— |00 + 100 + 30 + 20 + 2 + 3 132 +123
=200 +30 + 5 =200+50+5

=255 | =255
b. 4 + 162

s s

17 2 8 &4 & 6 7 © 9 10




276 + 148

Stuclﬂ each method. Work out, each sum in two ways.

a. 158 -I14b

(Busiys method (Dumi's method
=|00-100 +50-L0 +8-b 158 — 146
=0+10+2

=0+10+2

=12

\ L =[P

b. 194 —122

( (

1§ \_

c. 288-199

>

11 12 18 14 185 16 17 18

19 20



Tar‘get 400

Counting and writing the £ OOs

Y
Count on from 300 to 4O0.
503 the numbers as You go.

Write the missing numbers on the grid.

30l 310
315
330
33l 335
2.9
365 368
213
390
400

Write the next 9 numbers after 4OO0.

4OO0;

17 2 8 &4 & 6 7 © 9 10



Start | 300 — +10 [+ +10 — +l0 —
+I0
End < +10 < +|0 - +10
b. Count back from 4OQ in tens.
Start. | ,00 — —10 |-» 10 |- 10
|
-10
v
10 — 10 10
|
—10
v

|
@)
Y

|
@)
y
L
@)

Y

‘—/ 50  Whrite as one number
300+ 20 + 4 =
300+ 50+ 3=
300 + 60 + 2 =
300 +80 + 1=

Write the answers in order from smallest to biggest.

300+10+5=
300+70+ 7=
300 +90 +9 =
300 + 4,0 +8=

11 12 18 14 185 16 17 18

19 20




\A/eig hing N
Add some ki|osrams.

Add and write the answers.

97 kg

< Think smart! )

Jackadl 25 kg Tortoise 98 kg Baboon 59 kg Babﬂ zebra 88 kg Pelican 9 kg

Round of f the mass of each animal to the nearest O kg.

Whrite the mass of each animal in order from |ight to heGVH.

Estimate the total mass of the 5 animals.

17 2 8 &4 & 6 7 © 9 10



I may not be as heavg as you, old Tortoise,

but I sure am faster!

Steps

e Use your rounded of f amounts to estimate.

* Estimate the mass of the animals in each row.
*  Cadlculate the totals using the actual mass.

O Compqr‘e the two totals and write the difference.

I estimate I calculate The difference

( Check. Coqur‘e. Correct. j

& o
Vusi adds his own mass to the mass of % and e .

Their total mass is 239 kg. How much does Vusi weigh’? Show You answer.

What's my weisht?
PIGH ina group. Take turns ...

Add your mass to the mass of some of the animals. Work out the
total. Tell the answer to the group. Don't show them your work!
Theﬂ must, then trH and work out your mass.

11 12 18 14 16 16 17 18 19 20



Tar‘get 500

) Counting and writing

4Ol OS5

41O

48l

490

499

500

a. Count on from 400. SGS the numbers as You go.

b.  Whrite the missing numbers in the gr‘id.
c.  Whrite the next 9 numbers after 5O0.

900;

d.  Count in 2s. Write the next 8 numbers in the 2s Pattern.

4O0; LO2;

e. Countin 5s. Write the next 8 numbers in the 5s Pat.t.ern.

LOO0; LO5;

1T 2 38 &4 B 6 7

8 9 10



Ay

Add forward from 400.
Start | 4,00 — 420 (— +30 —~ +O |-
|
+I0
v
End —{ +50 «— +|0 «— +20
b. Count back from 5O0.
Start | 500 -2 > 498 > 96 SAA
|
v
L3 |« 4L |« /A 48l
|
v
ATA - 4LOL - 4,02 ~{ 400 | End

Showing the numbers. Follow the exclmP|e.

Find the totals. Use your number cards to show each total.

LO5+10 | 415 | LOO+I10+5 || 398+ 10

L4610 424 10

11 12 18 14 16 16 17 18 19 20




More clclding and sulotr*acting

\.

You are Soing to use Busis and Dumi’s methods ngin to add.

a 245+ 23l
T (B ezthed

= 200 + 200 + 4O + 30 + 5+ | 243 + 23

=400 +70 +6 =400 +70 + b
= LI6 =476 ]
b 278 +13b g \

265 + 148

17 2 8 &4 & 6 7 © 9 10



We are going to use Busi's and Dumi’s methods to subtract.
a. L16-32L

(Dumi's method
=L00-300+70-20+b—-4 476+ 32
=100+ 50 + 2 %&2
=]00 + 850 +
=152
L 1 =152 )
b. £489-/,56
s N 2
& J U J
c. L8216l
s N 2
& J U J
I
R300
R250
R200
R189 R150
ol H | p—
R50 /
Studﬂ the Picture. ‘ |

How much more to reach the target?

11 12 18 14 16 16 17 18 19 20



oooooooooooooooooooooooooooooooooooooooo

Shqr‘Pen your skills

SO

g ) Secret. mountain
‘s the name of the highest. mountain in Clqut.eng? Use the code to find out.
Match each answer in the table to a letter in the code.

A B C | D E F G| H I J K L M
| 2 3 L, 9) b 7 8 q |10 I 12 | I3
N | O P Q R S T U VI W | XI|Y /
L [ 15 (16 |17 |18 19 |20 21 |22 |23 | 24 | 25 | 2b
Number clues Answer Letter
Examp|e:2><3><3><|=|:| 18 R

50 + 50 + 50 + 100 -200 - 45 =[]
|+24+T7+10+7+1-14 =]
60-30 +50 +20-50-15-20 =[]
3+2+7+1+2+1+3=]
5+3+30=4+2+12+0]
I00-5-70 =20 +[]

36+ 4L -60-2=[]

O+ 15=14 +[]
2+1+14+9+1L=25+[]
IX2Xx2%X2X2=[]

The mountain's name is

I 2 8 & B 6 7 8 9 [0



Look, think and answer!

O ¥ C *x O O x C * O O x C * O

I 2 3 4 5 6 7 8 9 10 12 13 14 15
N What shcpe will number 16 be? Tick (\/) the right one. * 0 C
What shcpe will number 18 be? Tick (\/) the right one. * 0 C
What shcpe will number 23 be? Tick(\/) the right one. * 0 C
b.
Number 5O will be a %*. True or False?
Number OO will be a ©. True or False?
Number 28 will be a €. True or False?

( Check. Coqure. Correct. )/'

.......................................................................................

To 9et, R250 a dag Pocket money
for June and Ju|3.

Orto get RI5O total Pocket money for
the two months?

Show how you worked it out.

2 18 14 16 16 17 18 [9 20



ngmetr*ﬁ

What do You notice about, these shaPes?

e

J

A line of sHmmet.r‘ divides a sthe into two
halves so that each half is a mirror-image
of the other.

A shape has sgmmetrg if Yyou can fold
it q|ong the line of st.jmmetrH so that the
two halves match exact|3.

Is the dotted line a line of symmetry or not. Circle the (Y) Yes or (N) No.
Y/N Y/N Y/N Y/N

17 2 8 &4 & 6 7 © 9 10



Draw shqpes to make the Pictur‘e SHmmetr‘ich

We have done the first, one for you.

Create your
own SHmmetr‘ica|
carpet using

SI’\GPGS.

M o o e e e e e e e e e e o e e e e e o e e — e — — — —

11 12 18 14 16 16 17 18 19 20



ComP|ete and mu|tiP|3

| basket, holds apples. | 1X10 =10

3 baskets hold apples. |3 %10 =

5 baskets hold apples

J, baskets hold apples.

2 baskets hold apples

| crate holds 100 apples. 2 crates hold apples
3 crates hold apples. | 4 crates hold apples.
5 crates hold apples. | 2 half crates hold apples.
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There are 1O 0PP|eS in | basket.

There are baskets in one crate.

Ther‘e are GPPleS in one crate.

How many dPPleS are there q|together?

Caleulating, showing and writing
Firs use number cards to show each total. Then write in the number. h
3 crates BB 1 /, boskets @+ 5 qpples @) = 35 appls

B 5 boskets @) + 7 opples @) = apples

[|- crates RN
EEEE8 + 2 baskets @-l— 3 GPPleS ‘ - oPP'es

5 crates [EEEEE
L + 7 baskets @-l- 2 oP|o|es ‘ = GPPleS

ll- Crct;es \f“t¥ AL §

11 12 18 14 16 16 17 18 19 20



Multiplication and division (IO)

Term 2

Counting the CIPPleS.
Fill in the table.

How many baskets hold the GPP|es? "

Apples @ | 10 20 30 4O 50

Baskets @ | 2

—-— sum 50+10=5

5 X 10=50

Divide the QPPIGS between the children. Make a dr‘owing.

White a division and mu|tiP|icotion sum to check your answer.

| §2009. (

Check you answers
(==L
Cx =1
m 1 2 3 4 B 6 /7 8 9 10




\‘.‘

7| Whrite a = sum

Write a X sum to

check your answers

J L

, 390, 500,

11 12 18 14 16 16 17 18 19 20



. 232; 23L; : 24,2,

b. 500; WAS (% : : £90;
c. Lb0O:; ; : L,O0; : 360;
d. 34l . 36l; ; ; 34I; gAlR

Pairs of gloves wv v wwv :

a. How many Pqirs of 9|oves in one row?

b. How many sing|e g|oves in one row?

C. HOW man r‘ows?

d. How many 9|oves d|toget|'1er‘?

e. Show how You work it out.

£ Write your answer as a number sentence.
X —

17 2 8 &4 & 6 7 © 9 10



HOW man3 gloves?

White in the tables.

48 4

I o | & |80 | & | 4O | 3 | 30 | 100
2

% | Pair of

9 IOVGS

Number Of\

g |oves

Sin3|e 3|oves 20 2| 10 13

Pairs that
can be made

Sin9|e 9|oves

left, over

Count, in twos

a.  Which number comes in between?

264, , 268 341, , 395 L4, 410

b.  Write the next two numbers.

313,3715,377,319 | 480, 482, : 262, 264,

c.  Whrite the next two numbers.

3Lb, 348, LIS, 4IT, : 297,299,

11 12 18 14 16 16 17 18 19 20



How shall T place
them?

Mrs Mabena has some Pr‘et,tﬂ tiles.
She uses them to pave an area in her gor‘den.

There are b square tiles of the same size.

I can make I can make 2 rows with I can make 3 rows with
| row with b tiles. 3 tiles in a row. 2 tiles in each row.

bX|=0b 3X2=56 2X3=5b

Now it's your turn!

Shade blocks to show how You can arrange 8and 9 square tiles.

8 SC[UGPeS q squcres

Whrite number sentences for each dr‘awing.

17 2 8 & & 6 7 © 9 10



\ >/
(Y. ey
Thabo has 12 square tiles to pave next to the house. He|P him find all the ways he can do this.

Whrite a number sentence for each way.

Sl X 12 =12
EEEEEEEEEEEN 5=

Arrange 21, tiles

*  Usethe Sr‘id in Cut.- out sheet, 2.
*  Shade 2/ blocks in dif ferent. ways.

*  Whrite number sentences to match each cquwing.

11 12 18 14 16 16 17 18 19 20



Using fives

Knowing your Ss

Fill in the answers.

I 2 3 A S b 8 9 [0

a. HOW manH cand|es in eGC|"| bOX?

lD. HOW mong l’.')OXGS in each POW?

C. How many candles in each row?

d. How many candles c|together‘?

Showins the answer

Tick (\/ ) the number sentences that show the total number of candles.

b. 15X 3= c. 3XdIX = d 15X 5=

17 2 8 &4 & 6 7 © 9 10



Countins forwards and backwards in 5s

a. 85; ; ;. 10; ; ; 05;
b. 240; ; ; 295; ; ; ; ; 280
c. L,O5 395; 380 365

Co"ecting RS coins

ThciHren collect RS coins. How many RS coins do thelj need to collect to have R___?
We have done the first two for You.

R5 +~R5 RIO = R5
= coin = 2 coins RIS? R207? R257?
| R30?__ | R35?__ | RLO?__ | R4S?_ | R50?
3 Do You see the
2XR5=|R L, X RS = R Pct.tern?
3XR5=|R bxXR5=|R

v

MUIt'iPIHi"S bﬂ 5s [Examfﬂez I X5=511X5=552X5=105 )
Think smart! Build on facts you know!
I 2 3 A S b Ji 8 q (0]
S IO
| 2 | 13 [ 14 [ 15 | lb 7 18 9 | 20
95

11 12 18 14 16 16 17 18 19 20



| or‘king with time

Drdwing the times

Quarter Quarter

to eleven past 12 12:45 6:15 £4:30

Time ProHem

We can use a time line to work it out.

Nomsa's mom leaves home at, 2:30. Put HOUP_fing_ef on 2:30,
She comes back at, 5:15. the time it,is now.

How |ong is she out, for?

Then when SOU[JumP Jumpin f\OI"WQI"d

forward one whole hour another whole hour will

hour it will be 3:00. more, it will be 4:00. bring You to 5:00.
_—E /V\A

7 %
NI T I O ST I O o

215 230 245 300 315 330 345 400 L5 L4:30 L:45 500 515 530 5:45 6:00
- I > ¢ > ><|—>
2 hour [ hour [ hour 4 hour

| Then HouJust have\
If you jump forward 2 to jump
L hour more to get,

to 5:15.

5 hour plus two whole hours make 25 hours.

PlUS % hour more mckes 2% I'\our‘s in G"

17 2 8 & & 6 7 © 9 10



K Check. Compar‘e. Correct.

Time ProHems

Solve each Pr‘oHem. Use the time lines to he|P you.

Queenie visits her Dad at the clinic at. 15:4.5.

She leaves at, |7:15.
How |on9 does she visit, for?

b. Musa goes to the Pdrk at [0:4.5.

He comes home at. 12:30.
How |on3 is he away for?

c.  Tumistarts to studﬂ at, 13:15.

She finishes at. 14:4.5.
How |on3 does Tumi studﬂ for?

11 12 18 14 18 16 17 18 19 20



How many Pots in a row?

b. How many |egs in a row?

c. How many rows of Pots?

d. How many |egs a|together‘? Show how You work it out.

Tick (v ) which number sentences below show the total.
2 X7 = IXTX3= XL X2= 2l X 3=

n Think fast.
How mdnH Iess' E Think smart.

| Pot 3 |egs IO Pot,s |egs S |oot,s |egs

2 Pots |egs 15 Pots |e9s 12 Pots |e95

|egs 13 Pots

|egs
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Vo o e M M M M e e e me Ew mw mw mw mw m®

. HOW mdnﬂ tqb|es ina I"OW?

b. How many |egs in a row?

c. How many rows of tables?

d. How many |egs o|together‘? Show how You work it out.

vy

) f’ » At the factory

A cqr‘Penter makes tables. He first, makes the |egs.

He hOS mode [|.8 SO For. HOW anH tQHes can he mqke?

HOW manH more |egs does he neecl 'FOI" one more tab|e'7

ComP|ete the grid 53 fi"ing in the answers

o | 3 5 [ s8]0 |

x3| 6
X

~
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oooooooooooooooooooooooooooooooooooooooo

Count in 90s

One child, one blanket!
How many children? Estimate, then count.

)
O B S
2 ) /
2821 &4 //ws“’ P \
¥ é)@;uﬂh@ o e

¥y pi
S § | 1'1’-@\\\'@‘ ’\§/ 17/(

ﬁ.'

-
w 't‘ ""

All the children in the Pictur‘e get a blanket.
How many children are there?

Estimate Count, ComPcr'e

HOW mdng are @ bO‘LJS? HOW monﬂ are @ 3IP|S’)
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MI"S Choone Q UHS

R

She PQHS

Thembi Stores ==L F=

How |on9 will it take? Use a calendar.

The Srqde 3 class collects money to |ou3 L, blankets.

Tl‘\elj CO"GCt R5 (o} dQH 'FOP 5 dGHS (o} week.

How many weeks do theﬂ need to collect, money for the blankets?

11 12 18 14 16 16 17 18 19 20



Fractions: halves and cluar‘ters

Divide the balls equo"g between the boxes.

* How many balls are in each box?

* How many balls in the PurP|e box?

* What fraction is in the PurP|e box?

* How many balls are in each box?
* How many balls in the PurP|e box?

* What fraction is in the |our|o|e box?

Look at the Pictures and answer the c[uestions.

How many circles do you count?

What is % of the circles?

How many circles do You count?
What is % of the circles?
What is % of the circles?
What is % of the circles?

What is % of the circles?

1T 2 38 &4 B 6 7

9
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COlOUf‘ in %Of\ eac|’1 SI’\GPe.

Colour in %of‘ each shape.

COlOUf‘ in % Of\ eac|’\ SI’\GPe.

Colour in % of each shdpe.

'l %
i Look at the fraction st.rips.

HOW mdna I’\GIVGS (%) mqke one w|'10|e?

How many quarters (i) make one whole?

HOW mqnﬂ oluar‘ter‘s (i) mqke one }'\Glfo

b. Look at the diqgr‘dms and write a fraction for the shaded Part.

c.  Which fraction is bigger %or % .

~—
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oooooooooooooooooooooooooooooooooooooooo

racltions: ha|ves, thirds and sixths

Divide the cans (c3|inder‘s) ec[uo”H between the boxes.

Total cans: |2
* How many cans in
the Purp|e box? b
* What fraction is
in the Purp|e box? )

Look at the Pictures and answer the questions.

AR EERI 1
® o000 @ 0O
o e ol olo 8/83/8|3/8
How many circles do
You count? | I
What is 3 of the circles? What is 5 of the circles?
What is % of the circles? What is % of the circles? What is % of the circles?
What is % of the circles? What is g of the circles?

What is é‘ of the circles?
What is g of the circles?
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(," € )

%\ \O)

O | 2 3 4L 5 & 7 8 9 10 1 12 I3 1k 15 6 17 18 19 20 2 22 21 22 23 2, 25 2 27 28 29 30

£ -

® Show one half of the |engt|1 the ruler. This ec1u0|s to cm
® Show one third of the |engt|'\ on the ruler. This equo|s to cm
® Show one sixth of the |en9t,|1 on the ruler. This ecluq|s to cm

Look at, the fraction striPs. Complete the sentences.

* Thereare  halvesin a whole.
* Thereare  thirdsin awhole.
* Thereare  sixthsin awhole.
* Thereare  sixthsin ahalf.

* Thereare  sixthsin athird.

Write a fraction for the shaded qut.

11 12 18 14 16 16 17 18 19 20



oooooooooooooooooooooooooooooooooooooooo

Fractions: fifths

Divide the cans into the S boxes.

In one fifth of the boxes are | © | cans.

In two fifths of the boxes are cans.

In three fifths of the boxes are cans.

In four fifths of the boxes are cans.

* TIn five fifths of the boxes are cans.

Look at the Picture and answer the ciuestions.

How many chocolates are in the box?

* one fifth (%) of the chocolates ecluq| to

two fifths (%] of the chocolates ecluc1| to

three fifths (%) of the chocolates eclua| to

four fifths (%] of the chocolates eoluc1| to

five fifths (%] of the chocolates ecluo| to

On CJCIH [T ate % of the chocolates. How many chocolates are left?

On doH two I ate another % How many chocolates are left?

17 2 8 &4 & 6 7 © 9 10




o | 2 3 4L 5 & 7 8 9 10 W 12 13 14 15 6 17 18 19 20 21 22 21 22 23 24, 25 2 27 28 29 30

) ‘f 2 Look at the fraction str‘ilos and answer the questions.

Circle bisser or smaller

a. %is /smq”er than %

b. % is bigger‘/smd"er' than %

c. % is bigger‘/smq"er‘ than %
d. % is bigger‘/smq"er‘ than %

. % is bigger‘/smo"er‘ than %

11 12 18 14 18 16 17 18 19 20



Count the boxes (Prisms).

Count the balls (spher‘es).

Count the cglinders.

These are d" bOXGS.

Use Cut -out sheets 3 and £ to make them.

Each flat, surface is called a face. Stick or draw one smi|e3 on each face of the boxes.

How many faces did Yyou stick on:

cube Prism Prism

Are the faces of the Prisms flat or curved?

Now make the c3|inder‘ from Cut.-out, sheet, /.
Are the faces of the cH|inder flat or curved?

17 2 8 & & 6 7 © 9 10



2 Use your ol?jects to build the Fo"owing.

Describe the Position of the c3|inc|er‘ using the words.

On the side Infront On toP

m' The gir| looks at the of the |oui|din3.
. | The man looks at the of the bui|c|in9.

The bird looks at the of the building.

side t,oP

11 12 18 14 16 16 17 18 19 20




2 is half of 4 L, is double 2
20 is half of [,.O [,.O is double 20
200 is hdlf of 400 400 is double 200

Remember! We can show this in a dr‘cwing v
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‘711 Double the number using a number line. The first examP|e is given to you. ”

Exmp|e
Dable 40 [49] L naed I i

“ | | 1 | | ] | r~
O IO 20 30 O 50 60 70 80 90 100
a. Double 60

+ —

T T T T T T T T T T >
O 20 O 60 80 OO 120 1,0 160 180 200
b. Double 150

+ —

T | | | | | | | | | ™
@) 50 100 50 200 250 300 350 LOO L50O 500
CH Doub|e 200

+ pr—
| | | | | | | | | ™
50 100 B0 200 250 300 350 LOO LB50O 500 ‘

-
A ;

, ' \l’/ ComP|ete the fo"owins

ComP|et.e the fo"owins
a. Double |00 200
b. Double 150
c. Double 120

d. Double 200

. Double 70

11 12

13

149 16 17 1S

a. Half 220

IO

b. Half 180

c. Half 260

d. Hdlf 60

e. Hdlf 320

19 20



N Sale RL_5O

Aakar saves R25 a week to bug this bic80|e. qu'F Price: was RqOO

FOP I’\OW anH weeks must, he sqve?

Answer: weeks

On sq|e

(, ’ % T All the items are on sale for half the Price.

NP @
S A}f—/ H Write the sale Price next to each item.

a. Blankets RI90 . @ b. SheetsRIS.

Sale Pr‘ice Sale Price

c. Cushions R5[,. d.  Chairs R220

Sale Price Sale Price
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HOW manﬂ ronds?

Musa wants the shirt. He on|3 has half the amount.

How much does he still need? R

Adkar’s shoes cost, twice as much as these.

HOW muclw dO AG'(GPIS shoes COSt? R

R97

Phindi's dress is double the Pr‘ice of this one.

How much does Phindi’s dress cost? R

What goes in? What comes out?

Follow the excmP|e. Fill in the missing numbers.

double

124

I[e;

12

98

|'\a|ve

11 12 13

10
\ 62
53
_q 4
—

149 16 17 1S

19 20




GrouP and combine

) Gr'ouPins the children

Mrs Ndaba wants to divide the class into equo|—sizec| groups for outdoor games.
First she Put,s them into groups of 4.

un ildren?
a. Count the childre E Check. Compqre_ j

ID. HOW man teams CIOGS she mqke? Cor‘rect.

c.  Show dll the other ways theH can be gr‘ouped into eo[ucxl sized groups.
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Phindi has 5 coloured shirts and 5 coloured shorts.

How many different outfits can she make using different. combinations of the colours?

[FOI" examP|e: B|ue shir‘t/Hue SI’\OI"t’S. B|ue shir‘t/or‘qnge Sl’\OI“tS. )

Write the first letter of each colour. Show all the other Possilole outfits.

Predict: What if Phindi has b different. colours of shirts and shorts?

Check. Compqre.
Correct.

How many outfits can she make?

11 12 18 14 16 16 17 18 19 20



Maths fun

LOOl( 'FOP a rule

U el Bl ke g bz S 8
513 |3
Now do thess:
7
8|49
S L
fe 2| 2 2 | L 4|2
Build to 20 in 3 different ways.
20 20 20

Challenge

A
A4

Use the numbers |, 2, 3, £ and 5.

The 3 numbers in each row must add up to 1O.

Ru|e: USG eqch number‘ Oan once.

I] 9



a. Rule: The numbers in each row must add up to lb.

2 S 3 b

2

b. Rule: The 3 numbers, across the rows and down the co|umns, add up to the same total.

2 7 b 23 28 2|

9 I 12 26

c. Rule: Write in any 5 numbers that add up to the middle number
inside the star.

/O /O /O
50 120

150

N N N

11 12 18 1& 15 16 [7 18 19 20








